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Write short answers to any FIVE parts. -é&{-li/‘.?éoii !

Define mechanics. -Z_( - /U/ (1)
Why do we need to measure extremely small intervals of time? fe (}/u.v'/ u/’/d/ @qu,v,d*’ dl/'&._):u" (ii)
Express these numbers in scientific notation: (a) 0.0000548s  (b) 6400000m sff B J' :’u@d’bf et (i)
Differentiate between distance and displacement. -_é 5 I,u/u:f ./’-J‘J Slel  (iv)
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A sprinter completes its 100 meter race in 12s. Find its average speed.

Define force and write its SI unit. -éu)’ SIS U:lé - /.’.JJ/} (vi)
When a gun is fired, it recoils. Why? sl -ad\f@’fé’,/Ldladeu’yJ > (vii)
What is friction? *’c..lfu’; (viii)
Write short answers to any FIVE parts. -J@LV/"Z—AI lét:,(jf

°¢.J‘unyu/éJrz:ux/,iuyb_f.u’dy/ G)

What is the relation between law of gravitation and Newton's third law of motion?

Write two uses of artificial satellites. -gf:/ e L!Wl;:éu:’,tﬁf’f 9~ (D
Give the reason why gravitational force is very weak? -éug.,»&.m/éw}d"’”‘ d)’/( (iii)
Write two uses of wind energy. -éf/ o Yol Bk (iv)
What is meant by the efficiency of a system? “L;f/lfc_ u’" JJ J(’/ J( ()]
Differentiate between stable and unstable equilibrium. -“é u.l;.u/uf( /d:.( i{.g(.l)/{u y ,g,(y (vi)
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Why there is a need of second condition of equilibrium if a body satisfies the first condition of equilibrium?

Write two disadvantages of fossil fuels. : -é/ futl.u‘»d:/y’ J’ £ (viii)
Write short answers to any FIVE parts. _é'.:,wf’[_,l? létc_.(j:(
Give the name of fourth state of matter and define-it. S /"JJ l/;IJ(WJb&Ju& 6
What is a barometer? fe Ure (i)
State Hook's law. _SEYLYITEL (i)
Differentiate between heat and temperature. & OISt /,‘-/;,}»l:—/ 7 (iv)
Define evaporation. -é - /‘."d/c/?/:f-z," W)
What causes a glider to remain in air? “c‘,gvygw,m&/fff (vi)
Define transfer of heat. & .4_'}‘.‘.\; ;w‘]Qb‘El (vii)
Write the use of convection currents. _é,/UMw“ /uig:f (viii)
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Part - 11, Attempt any TWO questions. Each question carries 09 marks.

S=Vit+ %at2 o S P ISPt St L7 (N

Draw speed-time graph for the motion of a body. Using this graph derive second equaiton of

motion: S=Vit+ ; at?

e e SIS AL L Ve 3ms™ e L R stem SFEL K 05 (O)

How much centripetal force is requlred to make a body of mass 0.5kg to move in a circle of radius
50cm with a speed of 3ms™

Define kinetic energy and derive its equation. -é: M...A:VJJ U:li - /'U/ & /MQG( ()
-5 s _f) euua,erJZ SON -« 16cm W3NS EAL RS )

The steering of a car has a radius 16cm Find the torque produced by a couple of 50N.
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What is thermometer? Also write the characteristics of liquid used in thermometer.
c{pb"//}}lsd_.fugc.JJiJZUN dlsi.;u’f -&10mm XVJJJ’ -c..Vd//dUl-b/u'-.f (...,)

The head of a pin is a square of a side 10mm. Find the pressure on it due to a force of 20N.
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